THFE BBEHERIH/E—ER (st

. e =, T8
2RE | K4 X8 | mame 2| an | g . Niadi % =
BEFE \orpnr| mmn || moid |smm| SN | AR Lpa| BB oy | cEES)
EBE & P
1| smeme [2® w0 1800000 0 0 0 0 0 0 0 0 0 0 o] 1,800,000
2 N E s B (5R)
3 5 B B
4 ERAHE
5 B B =
(REHREH)
6| 2mx |m s = | 1440000 0 196,381 0 0 1,021,263
7 ® & H (448)
8 woE -
(REHEH)
9 = Hh 5
10| ersm [mmwus—m| 720000 0 0 0 0 114,000
BOE B A
1 wErms| (28)
12 MR | B i3 720,000 0 160,000 59,561 74,109 426,330
x W %
13 mEraw| (28)
14| —%= [» & = | 1,080,000 0 0 0 0 1,080,000
15 & 4w i % (34)
1 PR
(REHEEHE)
17| mzs |e=#r 8 720000 0 26312 0 0 508,230
%% HE &
18 wmgEm| (28)
19| BR&ER |t ®R F 8 720,000 507,578 0 8,400 20,598 183,424
MEERT
20 wmagm| (28)
21 | mmmos | » % 2| 1440000 0 2a0.408] 26950 0 1,163,642
22 #RERZE (448)
23 EREEH
=R S St
24 (BEEEE)
25 SRHBE | I B & 720,000 0 324,459 72,545 3,872 319,124
P
26 (mmpm)| (28)
27| a52% 1= wm | 1440000 352,000 0 0 0 31,000
28 B = # y| (4—-348) 180 SF4E28
178 &BL. M
— - 385 (178
woEE 2 43R
29 (REEEE) HBR
& F 10,800,000 859,578 956,560| 167,456 98,579 6,647,013




